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1. x =1 i¢in
f(1)=d(1)
f(x) = 3x° — 6x

g'(x) = ax® + 2bx

f(1) =-3
W | Erz=s
g(l)y=a+2b
x=-1 icin
f(-1)=9
g-1)=a-2b
a-2b=9
+ a+2b=-3
2a=6
a=3
a-2b=9
3-2b=9
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Cevap: D
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Cevap: D
X =2 i¢in
fx)=x—1-x+1=0
fx)=0 = f(2)=0
X =-=2ic¢in
f(x)=x—1+x—-1=2x
f(x)=2
f(-2)=2
Cevap: B
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7. V43 -1+xy=0

Fx _ 9x®+y
Fy — 3y2+x
x=1 igin VY +3-1+y =0
V+y =-2
y=-1
Fx . 91-1_ 8
=1 - - -
Fy§=_1 3(-172+1 4

8. f'(x)=3<x+1 )2.(1-(X+2)—1(X+1))

X+2 (x+2)
=a (3’ (%)

-2
2v/x

9. g'(x) = 2x.f(1 — 2Vx) + f(1 = 2Vx). -x2

g'(4) = 2.4.8(1 - 2/4) + (1 - 2&)-% 42

=8.f(-3) + f'(—3)-_4—1- 16

=8.f(-3) — 8f(-3) =0

10. f(x°)=x"—16x+4
f(x%).3x* = 2x — 16
f(8).3.4=22-16
f(8).12=-12
f(8) = -1
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12. Fy = 3x-1

X =2 i¢in
32y+22-y+7=0
5y+11=0
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Cevap: B
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14. y'=3(2x +5)°.2
y'=6.2(2x + 5).2

y'=24.2=48
15. f'(x) =5x + 3 icin integral alaim.
2
fi(x) = 5% +3x+cC
f(0) =
5x2
f(x) = ot 3x + 5 i¢in integral alalim.
5x3 | 3x?
f(x) = 6 + > +5x+c¢C
f(0)=c=-1
5x3 | 3x?
f(x) = 6 + > +5x—1
1) = 5,3,4_5+9+24 19
=6 271 6 3
(3) (8)

16. f(x) = 2x.(x* = 2x) + (3x° = 2)(x° + 2)
f(—=1) = 2(=1)(-1 +2) + (3.1 - 2)(1 + 2)
=-21+13=1
17.  f(3x—2).3 = 15x° + 6x
f(8.2-2).3=152°+6.2
f(4).3 =60 + 12
f(4).3 =72
f(4) =

Cevap: E

Cevap: D

Cevap: C

Cevap: A
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18. f(x) =

Cevap: D

19. f'(x) =3x—1 integral alalim

3x2
f(x) = 5 TX+cC

f(x) = =>— —x +4 integral alalim.

2
L
6 5 +4x+cC

f0)=c=1 = f(1)=%— +4+c=5

nN|—=

Cevap: D

20. f(1-2x).(-2) =6x + 1
f(1 —2.0)(-2) =1
f()=-%

Cevap: B
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